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B o) GO BESH PNEDHDD
BB 00 e BOO® o®s

AA3 &oen - 2017 &G
(AA32) De@ammiosn BHMBHOME ®) {@s

exiS DO y

2B0s yd» v (04) 8.
(@0 cae 20)

10 565G BEH 66ISH caMO

a)

b)

V)
Vi)
vii)

viii)

e yIe® WORS 3w BO(OTD wmed BEOO e JO.
§eE weman e B wewr emondy B1nde.

RS 8 @0 doE drnens’ 988 STe.

2® @DBD® GE1 BB BPeed; BB civw .
Boen ©e® sc® w0 oS00 emomdy e1de.

GG ©1CEO amd dedBn 206y’ BO® wms WV (Actual performance) e1es8®0
8 Je.

R DEO gdas emCRT 5 Be®8 wwis Be.

Qg e BBOs Do 9f BBE.

©100 @(88w¢ »(8 @Ded guey SEe.

20c05® ¢ @8O, vems BBOO w8 Be.

Bog e 8OTL ©0cOe € dmwid s I o5 pEB grdns Bwke® 3w HEH(H®
8cD0 Dewy CRI® s O BRed §EB RHED @xD DOWD DO @ HBDS WO
@,

e®g G DEOIDIem Rdeh o v .

Red wu evdn ¢(Be®sy e’ (Credit Cards) 98 gwe el anum u8n wsdEs’
Bewed D00 @vciecy) arD.

e300¢082 @205 @10E® Y6 BIEBEEO O1RNO. (5D WIWDWS ©» EESDIDIS ©e5w
OB RES end BOR® wreRwWS 0wl @D D1BTGe BE® PES) ewIICEHE 1
DB e®INZBe HSe.

28 $eEiEHORO BEBD cikn O OB

28308000 yHeds B8O B3

230800 E @0ND®I ©(S® @853

2002380208 Bwdd ame@ma 858 @83

(82 cne 05)

AA3 / MAF DeOIDSe Ber@miens » Eu



2 O SHNG SCH) 6GISD MO

gy cOn Bgen = & B¢ QO e X &5®» - [ 8D s O X o5
SoE»® OB BIDDS g 20D Bge
A = 400 [(50,000 x 2/5) - (50,000 x 22,000 / 50,000)]
= 400 (20,000 - 22,000)
= 800,000 2083
B = 150 [(50,000 x 3/5) - (50,000 x 28,000 / 50,000)]
= 150 (30,000 - 28,000)
= 300,000  ©0&
ey ¢ Bgen BOEH»E = A+ B
= 800,000 &8 + 300,000 2983
= 500,000 &00&
(@0 caeg 05
3 O gBNG BEW) 66IED RO
oef dbse edmeds’ NX BEwidma @i 800 pesd endis
(St '000)
D013© B (D 230D 3830
Oper® 20*150 3,000 20*150%*150 4,500 20*75%*150 2,250
SOEs 8801w 20*80 (1,600) 20*150%*70 (2,100) 20*75%*100 (1,500)
R tes 1,400 2,400 750
e{@1ale]
8801 (240) (240) (240)
IS 1,160 2,160 510
(cae 05)
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4 D SHDG S 66IED MO

DO P Oy = 40+ 53 - 67
= g 26
@08

Ci¥s g ¢ O B8O

e 8B OeHD

edegt evvda @ ¢ B8nede®

e 8B OeHD

2017 @by 31 Bemss @dess’ Obss
2T DITD B e o

= ©20@1n Dot RIS UGB ¢t x 365

Oer® O350®

= (3,961.50/ 35,850) x 365
= g 40

= ©20@s edege evds @y ¢ X 365

OrRN®

= (3,970 /21,711) x 365
g 67

(82 cne 05)

A enDee® DeIncs.
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B gd» > (03) 8.
(@o cne 30)

5 9o 366 6e®) 668D ™o

(a)
A sedde B sedse C sede
SIS 350,000 400,000 320,000
(3,500,000 x 0.1) (4,000,000 x 0.1) (3,200,000 x 0.1)
2300205 2,500,000 3,250,000 2,000,000
(5,000,000 x 0.5) (6,500,000 x 0.5) (4,000,000 x 0.5)
Ve 4,000,000 3,000,000 4,400,000
(10,000,000 x 0.4) (7,500,000 x 0.4) (11,500,000 x 0.4)
20858 D350 6,850,000 6,650,000 6,720,000
s8ben @30T @0@RY;
D& B EEn D305’ A wewwdad.
(cae 07)
b) 8uben emIoncT OB gesSE» e = (400 + 3,250 + 4,400)
= 8.050.,000
sbedsen ©3@Ive® eedId tew
eodae 4y cu8® avn = ot 8,050,000 - 6,850,000
= o7. 1,200,000
(cae 03)
(g0 cre 10)
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6 O SHNG SCHW) 66IED MO

(a) i) Oner® 8 SOeme = s BEeicmas (580 8¢ - wons &R)
= 80,070 (810 - 806)
= 320,280 2208
ii) SOEs @sgme = BB 5B O (YD BHBIDS - BB PLDS)
Bweec® BOEm@
= 48,900 (140 - 148)
= 391,200 208
i) SOEs @sgmbc = 8D @m0 (8D (B G - BB BB OHBD))
DB @m0 BOEHE = 140 (48,042 - 48,900)

= 120,120 2208

(cae 06)
(b) e®enEd® YIGHW
ot ot
asdieon csmas (176 x 80,000) 14,080,000
ERer® =8 53iBn SO 12,320
14,092,320
BOE®»@
O S8:
e OB 0 DOEHD 148,000
e GO @z SOED® 1,467,000 1,615,000
15,707,320
a8 »E:
Oa® B BOED»E 320,280
e O BE SOE»® 797,000
e GO wbwSe®m SOEHmE 214,500
BOEs ewgmbn Bue® BOEmE 391,200
TOEs @sgmits Ibee®mr BDEHE 120,120 (1,843,100)
WDV CIBEIDES 13,864,220
(cae 04)
(90 cae 10)
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7 O SGHDG SCH) 66ISED MO

B8/es I8 s@r1v®

A gotras B @onc DD
@8 ©® g @208 Y dg 28 ©® dg
@wuey @80 (I @80 DG @0 (A
SHGIREAT) N — 100 e 100
o el encg go X e g X g0 | ew¢g gy X
@70 _ BO»S / 3OS / 3OS /
O3® O3® O3®
2,558,400 6,497,000 9,055,400
- x 100 - x 100 100
= 31,200,000 44,500,000 75,700,000
= 8.2% 14.6% 11.96%
Oea® Oea® Oer®
OD3>® escy g ened) g eney g
86019® = SHORLSY] BB WG]
78,000,000 144,625,000 222,625,000
= 31,200,000 44,500,000 75,700,000
200 2.50 290 3.25 290 2.94
Agored B ¢oved Y Bwm 8C cna»ow
DEOIDHTO DEOIDTO BER18w@O (BenchMark)
ewcd) P @ | 8.2% 14.6% 11.96% 11.5%
@08 amIBE
O3m® 88019® d 2.5 9 3.25 00 2.94 95 2.8

90 ©BHmE BEODED amd A gored ®E@®00 BRI @NEER. D8O eBRD Des’ dned

2oRB YEDBDOD @GLYH YIBADE OB el amesims Y D0 889190 e v eS8

5e8.

PCBDOD @BCY GIBRH®B O 0 HmLImG ) Drhw® 88098 gw wdevs S 5o B goned

DEDBIDCO B CPOO gee™® .

20EmE daews’ 8/t I8 ©@0® QEHDOD 0wcd HPSWHE O eE apImE Y OO

88019® €® ®Sevm ¢S DB 1 Bw BEWIB®I ¢ BRI PO ee®® R arD.

B etn0ee® gderxnd.

(e 10)

AA3 / MAF
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2B0e gdm» e (02) 8.
(@o cwe 50)

8 O zLMG BEW) 6BIED RO

A) &8/ 93l w@in®
a) Ber®

BOEs 88d(s

GO

2®8m G 8@ grsImE

@®3

©2®Em G 8@ arrsmE

(125,000 x 800) + (350,000 x 250)
100,000,000 + 87,500,000
187,500,000

(102,500 x 800) + (266,600 x 250)
82,000,000 + 66,500,000
148,500,000

187,500,000 - 148,500,000

39,000,000

©0®8m ceme X 100

©00ED Ser®
(39,000 /187,500) x 100
20.8%
(caes 05)
2@ G
X 100.00
©0®un Oea®
(22,500%3.2) + (84,000*1)
X 100.00

(125,000%3.2) + (350,000%1)

20.80%

AA3 / MAF
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@BODR):

euo 1 ONa® axma 800 : 250
320 1

WO 2 &I

One® 8e 125,000 350,000
(-) BOEs 88w

5D’ ®Ied (62,500) (195,000)
20292023025 (28,000) (46,500)
e De® yedawsy (10,000) (18,000)
aess SOEs 8801w (2,000) (6,500)
€I 22,500 84,000

(b) 00 ©s@Dedcs @008 = 8O 3000 88w

G 8@ amesIS

= 32,510,400
0.208

= ot. 156,300,000

©@dede cPus (91 ©0deden cPus (Tom)
83,360,000 S 667
[HOl0}>)
156,300 x (100,000 / 187,500) (83,360 / 125)
72,940,000 S 208
2386
156,300 x (87,500 / 187,500) (72,940 / 350)
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B) 8/ eoiCRs ©s@In®

(a) 801208 0w D¥ess ey ¢dn 2,500kg

ey cOB @OOUHNO
B&wsdm 9CGE® (Kg) g0 adasmo (Kg)
Gl1 10000 2 20,000
G2 9000 2 22,500
G3 6000 5 30,000
72,500
COD HS ¢OB 70,000
B ¢Os y®Igrs 2,500
9O @DOBID

B&s@ms 9CE® e 9O (v1w) (1)
G1 10,000.00 1.00 10,000.00
G2 9,000.00 1.50 13,500.00
G3 6,000.00 2.50 15,000.00
38,500.00
CRIOD DB 0y QO B OB 39,000.00

VOB e®BE wn OB B8 B eEEH HEINOD G ©D. O e¥nd »®, Jgv @iwed

e OB adaumd 72,500kg 8. »H@= so8m cud® y®ens 70,000kg B.
(cre 04)
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b)

G1 G2 G3
Oner® 8e 580 850 1,500
Soes 880w
cOs 120 150 300
@O 250 375 625
BOEs Bdsigm ewmogmta 120 180 300

490 705 1,225
TDDEWO GG 90 145 275
IO adas ¢dB 2 2.5 5
1 e oG 45 58 55
Bdecs B8gedg 3 1 2

Bdouem 1R800 amnd;

BEwsEmes BEsreme e goas ¢dn | 9O adasmds (kg)
(kg)
G2 9,000 2.5 22,500
G3 6,000 5 30,000
Gl 8,750 2 17,500
yeedn Sdoics Bya 70,000
(cm< 06)
c) REO BEwsiem ®D0e®E @resw we®r D oS
BsEme Oer® O s Sato1)
G2 9,000.00 145.00 1,305,000.00
G3 6,000.00 275.00 1,650,000.00
Gl 8,750.00 90.00 787,500.00
OISR ST] 3,742,500.00
(-) 000 88w (1,425,000.00)
RIDE 2,317,500.00
(cme 03)
(8 cae 29
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9 D SHNEG B 6GIED MO

A) a)8/e edFs w@Ind® - QL oG Yo
RX 1 8&wi@me
. 000 edees S w® Soes 88oe &8000J 8¢ yone
GOI0 R 880w
®ess 0 (12,000) (12,000)
e 1 -- 8,000 (3,800) (4,450) (250)
Dess 2 -- 17,000 (8,882.50) (5,340) 2,777.50
Bess 3 -- 36,000 (17,250) (5,874) 12,876
Dess 4 -- 60,000 (31,625) (6,461.40) 21,913.60
e 5 -- 72,000 (34,800) (7,107.54) 30,092.46
RX 2 Bdwsi@me
1. 000 edegg oe® BoEs 880w ={o13]e] §¢G gowwa
YT eH 8801w
95 0 (9,500) (9,500)
dess 1 -- 8,000 (3,600) (3,250) 1,150
Dess 2 -- 22,400 (9,900) (3,575) 8,925
Dess 3 -- 27,610 (11,990) (3,932.50) 11,687.50
Dess 4 -- 33,780 (14,400) (4,325.75) 15,054.25
desd 5 -- 37,860 (15,840) | (4,758.325) 17,261.625
(cre 07)
b) 1) RX1 8&wi@mes RX2 8&wi@me
St '000 RX'1 SV gt '000 RX 2 ISV
880w 880
YO0 (12,000) 1| (12,000) YO0 (9,500) 1 (9,500)
Yl (250) 0.869 | (217.25) Yl 1,150 0.869 999.35
Y2 2,777.50 0.756 1 2,099.79 Y2 8925 0.756 6747.30
Y3 12,876 0.658 [ 8,472.41 Y3 11,687.50 0.658 7690.37
Y4 21,913.60 0.5721 12,534.58 Y4 15,054.25 0.572 8610.03
Y5 30,092.46 0.497 [ 14,955.95 Y5 17,261.675 0.497 8579.05
RCQ O»@» gowe = 25,845.48 RCQ OO»®I» gvwE = 23,126.00

(i)

RX1 8 @.8.¢. 9vng gows 0. 9850 RX1 Bbeden »on cred.

(cae 01)

AA3 / MAF
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B)
a)

&8/ 0 ewig LIV

08125 208 YWD 880w

K, = D,/P,
K, = (5.76 / 45) x 100
K, = 12.80%
(cre 02)
b) DIHhs emoe o 8801ws
K = D,/P,
K = (1/12.5)x 100
K, = 8.00%
(cre 02)
c) smemd 889w
Kd = k(l-t) /PO
Kd = [12.5 (1 -.28)] /125 x 100
Kd = 7.20%
(cre 02)
d) »8» @18 B B8O
J1. BBu»
ol @Degg SHOIALSY SUGIALSY
O00® o1 | 8801k yBam 869
% ot
830802595 ©2900¢3 9,000 12.8% 1,152
DO @083 1,000 8% 80
HEDJ 2,500 7.2% 180
12,500 1,412
©@10e® ©8» @1s SV 88d1s = (1,412 /12,500) x 100
= 11.30%
(cre 04)
Qo cae 25)

C etm0eess gdeIncs.
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Notice :

These answers complied and issued by the Education and Training Division of AAT Sri Lanka
constitute part and parcel of study material for AAT students.

These should be understood as Suggested Answers to question set at AAT Examinations and should
not be construed as the “Only” answers, or, for that matter even as “Model Answers”.

The fundamental objective of this publication is to add completeness to its series of study texts,
designs especially for the benefit of those students who are engaged in self-studies. These are
intended to assist them with the exploration of the relevant subject matter and further enhance their

understanding as well as stay relevant in the art of answering questions at examination level.

© 2017 by the Association of Accounting Technicians of Sri Lanka (AAT Sri Lanka)
All rights reserved. No part of this document may be reproduced or transmitted in any form or by
any means, electronic, mechanical, photocopying, recording or otherwise without prior written

permission of the Association of Accounting Technicians of Sri Lanka (AAT Sri Lanka)
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